

**W39.** Find the following limits:

$$\text{a). } \lim_{n \rightarrow \infty} \frac{\left(1 + \frac{1}{n(n+a)}\right)^{n^3}}{\left(1 + \frac{1}{n+b}\right)^{n^2}}.$$

$$\text{b). } \lim_{n \rightarrow \infty} (n+1) \left( \left(1 + \frac{1}{n(n+1)}\right)^{(n+2)n} - \left(1 + \frac{1}{n}\right)^n \right).$$

$$\text{c). } \lim_{n \rightarrow \infty} \left( (n+2) \left(1 + \frac{1}{n(n+1)}\right)^{(n+1)n} - (n+1) \left(1 + \frac{1}{n}\right)^n \right).$$

**Solution by the proposer.**

$$\begin{aligned} \text{a) } \ln \frac{\left(1 + \frac{1}{n(n+a)}\right)^{n^3}}{\left(1 + \frac{1}{n+b}\right)^{n^2}} &= n^3 \ln \left(1 + \frac{1}{n(n+a)}\right) - n^2 \ln \left(1 + \frac{1}{n+b}\right) = \\ &= n^3 \left( \frac{1}{n(n+a)} - \frac{1}{n^2(n+a)^2} + o\left(\frac{1}{n^4}\right) \right) - n^2 \left( \frac{1}{n+b} - \frac{1}{2(n+b)^2} + o\left(\frac{1}{n^2}\right) \right) = \\ &= \frac{n^2}{n+a} - \frac{n}{(n+a)^2} - \frac{n^2}{n+b} + \frac{n^2}{2(n+b)^2} + o(1) = \\ &= \frac{n^2(b-a)}{(n+a)(n+b)} + \frac{n^2}{2(n+b)^2} + o(1) \sim b-a + \frac{1}{2}. \end{aligned}$$

$$\text{Hence, } \lim_{n \rightarrow \infty} \frac{\left(1 + \frac{1}{n(n+a)}\right)^{n^3}}{\left(1 + \frac{1}{n+b}\right)^{n^2}} = e^{b-a} \sqrt{e}.$$

$$\text{b) Let } a_n = \left(1 + \frac{1}{n(n+1)}\right)^{(n+2)n}, e_n = \left(1 + \frac{1}{n}\right)^n. \text{ Since } \frac{a_n}{e_n} \sim 1 \text{ and}$$

$$\ln(1+t) = t - \frac{t^2}{2} + o(t) \text{ we have}$$

$$\begin{aligned} (n+1) \left( \left(1 + \frac{1}{n(n+1)}\right)^{(n+2)n} - \left(1 + \frac{1}{n}\right)^n \right) &\sim en \left( \frac{a_n}{e_n} - 1 \right) \sim en \ln \left( \frac{a_n}{e_n} \right) \sim \\ &= e \left( n^2(n+2) \ln \left(1 + \frac{1}{n(n+1)}\right) - n^2 \ln \left(1 + \frac{1}{n}\right) \right) = e \left( \frac{n(n+2)}{n+1} - n + \frac{1}{2} + o(1) \right) = \\ &= e \left( \frac{n}{n+1} + \frac{1}{2} + o(1) \right) \sim \frac{3e}{2}. \end{aligned}$$

$$\text{Hence, } \lim_{n \rightarrow \infty} (n+1) \left( \left(1 + \frac{1}{n(n+1)}\right)^{(n+2)n} - \left(1 + \frac{1}{n}\right)^n \right) = \frac{3e}{2}.$$

$$\begin{aligned} \text{c) Let } e_n = \left(1 + \frac{1}{n}\right)^n, \text{ then } (n+2) \left(1 + \frac{1}{n(n+1)}\right)^{(n+1)n} - (n+1) \left(1 + \frac{1}{n}\right)^n &= \\ (n+2)e_{n(n+1)} - (n+1)e_n. \text{ Since, } e_n \sim e \text{ and } \frac{e_{n(n+1)}}{e_n} \sim 1 \text{ then } (n+2)e_{n(n+1)} - (n+1)e_n &= \\ (n+1)e_n \left( \frac{(n+2)e_{n(n+1)}}{(n+1)e_n} - 1 \right) &\sim en \ln \left( \frac{(n+2)e_{n(n+1)}}{(n+1)e_n} \right) = e \left( n \ln \left( \frac{n+2}{n+1} \right) + n(\ln e_{n(n+1)} - \ln e_n) \right) \end{aligned}$$

$$\text{We have } n(\ln e_{n(n+1)} - \ln e_n) = (n+1)n^2 \ln \left(1 + \frac{1}{n(n+1)}\right) - n^2 \ln \left(1 + \frac{1}{n}\right) =$$

$$(n+1)n^2 \left( \frac{1}{n(n+1)} - \frac{1}{2n^2(n+1)^2} + o\left(\frac{1}{n^4}\right) \right) - n^2 \left( \frac{1}{n} - \frac{1}{2n^2} + o\left(\frac{1}{n^2}\right) \right) = \frac{1}{2} + o(1).$$

Hence,  $\lim_{n \rightarrow \infty} ((n+2)e_{n(n+1)} - (n+1)e_n) = e \lim_{n \rightarrow \infty} \left( n \ln\left(\frac{n+2}{n+1}\right) + n(\ln e_{n(n+1)} - \ln e_n) \right) =$   
 $e \left( \lim_{n \rightarrow \infty} n \ln\left(\frac{n+2}{n+1}\right) + \lim_{n \rightarrow \infty} n(\ln e_{n(n+1)} - \ln e_n) \right) = e \left( 1 + \frac{1}{2} \right) = \frac{3e}{2}.$

**Arkady Alt.**